R 1 OMEE R

XA E O B ITHE

[l

TN A o — )L BB
TN ARG L NT =




oy A ENE R 4IRS O R E B

| BitEEH (1) |

[ABEDIRIR]
NEMAEERAEOARBRK
(BB A9%)

I 53 BE¥iEA1 Hyk 2 EAEE BN 2 BN S EHNE 4
H A Aer [seAml A% (s Alg] A8 | ssAlE] A% | ABR] A% s AR AR | ss AR
4 150 0 193 0 639 0 380 30 360 30 180 0
5 170 0] 217 0 682 [§] 372 31 372 31 186 0
6 150 0 2556 0 654 35 335 5 307 35 210 0
7 155 0 279 B 651 24 328 12 352 46 217 0
] 124 0 279 0 622 31 403 0 341 104 217 15
9 120 0 252 0 579 9 454 18 265 30 212 2
10 139 0 279 0 585 10 496 31 279 0 217 13
11 159 0 240 0 574 4 480 0 270 1 180 0
12 186 0 257 7 589 0 496 9 279 18 170 20
1 186 0 248 9 620 0 465 31 279 2 149 25
2 140 0 248 0 588 7 384 29 252 0] 112 0
3 147 0 279 0 754 18 372 15 228 4 124 0
B 1,826 0] 3,026 221 7537 144] 4,975 2111 3,584 3011 2,174 75

_ _ (Hfi: A %)
B4 BN S BEABST | T7IAARE it PNEES

Al A Pse ] Ak [seABRl A& |saABR| A# [ssAls| B |EER | ABRE| Alw

4 60 ol 1972 60} 126 o[ 2,098 B0 30| 2,100] 99.91%| 97.05%

5 62 o] 2,061 68] 109 ol 2170 68 31f  2,170[100.00%| 96.87%

) 60 o] 1971 75 95 ol 2066 75 30| 2,100| 98.38%} 94.81%

7 62 ol 2044 s8] 106 ol 2150 88 31| 2,170] 99.08%| 95.02%

8 62 of 2048 150] 111 8l 2159] 158 311 2,170] 99.49%] 92.21%

g 80 o| 1,842 59 98 o] 2,040 59 30( 2,100 97.14%] 94.33%

10 g2 ol 2057 54] 113 o] 2170 54 31| 2,170]100.00% 97.51%

11 60 ol 1,963 5 93 o| 2.056 5 30| 2.100] 97.91%| 97.67%

12 62 ol 2.039 54 129 ol 2168 54 31| 2.170] 99.91%| 97.42%

1 62 ol 2,009 g7| 102 of 2,111 67 31| 2.170] 97.28%| 94.19%

2 56 o] 1,780 3] 101 o] 1,881 36 28] 1,960| 95.97%| 94.13%

3 93 o] 1,997 47 91 o] 2,088 47 31| 2,170] 96.22%| 94.06%

it 761 10| 23,883 783] 1,274 8l 25157 771  365| 25,550] 98.46%] 95.44%

(% AE B OIRR
(BAfE: N)
N e
E e FE_EE igl&l:ﬁ% i::.\%ﬂ-% Erg;ﬁ
4 3

— A 3 16 4 3 18 ?
HEFBE 65 2 15 38 25 65
BXE 1 6 4 5 5
BRI 2 6 1 1 6 3 9
E 20 3 14 6 25
Birs 2 14 1 3 7 7 12
i€ 3 11 5 4 3 7
BN 4 8 3 2 1 4
EhE S 2 1 3
=11 68 18 19 41 41 67

R

] R—




[ R D4R 5]

2 R—Y

(3 B AR 35
(B8 N)
. st ___ %%ﬂ{ﬁrﬁ
R n ey igﬁ ﬂﬁt Rgﬁ%%’iﬁ g
e 1 1 0
HEEER 1 1
EEA 1 1
FHEE 1 1
e S E 2 2
M 1 1 1 1 2
Hakal 1 1 i 1
g E 19 3 16
BRE 1 1
&5t 28 1 4 2 P 25
Y] 20 3 1 18
tﬁRﬁ%ﬁﬁ 0 0
M OLAA LR 2 1 1 2
IN—haA LIEE 6 i i i 5
(B CEEREDOIRR
@D SF4E4HTHDRE _ (BAI: N)
X & WERY) | REE() | =501
b |MEERE 1.0 1.0 0.0
7 [EBE 10 1.0 0.0
N | RET 10 1.0 0.0
7 |HEEMRHE 1.0 1.0 0.0
A |[NERE 1.0 1.0 0.0
¥ |77 X Ror— 2.0 10 10
= [HEEIEL 0.8 1.0 -0.2
AR 1.0 2.0 -1.0
B [rERE 17.2 19.1 1.9
=ET 26.0 28.1 -2 1
@ SHSFEIRIHORE _ (BAfr: A)
X kB 5(7) BB (1) ZBI{TF-1)
A |HEER 1.0 1.0 0.0
7 |EEE 1.0 1.0 0.0
N |RELT 10 1.0 0.0
7 |EEHEBE 1.0 1.0 0.0
A |frEERE 1.0 1.0 0.0
% [T P IFoN— 7.0 10 1.0
= |BEEdlEL 0.8 1.0 -0.2
] 2.0 2.0 0.0
=N ERE 15.2 18.3 —3.1
BET 25.0 27.3 ~2.3
[fRaDxIE]
(5) FMAEEREIEF ORI
(BAfr - 44)
FAN 5
B 7 8 SrpEEme
AN A E 29 4
B 17 3
e ) 12 1
EHREHHERE] 4




[(FFDLE]
6) BRE=FERRNDHHE

Bl
(HE RO {t]
(N BT —ERAORR
i} _ (B4 )
X % iR BR R &t
FIHE 23,991 73,964 23,970 71,925
1HEH 65.7 65.7 65.7
JRft R 93.9% 93.9% 03.9%
ES ] 365 1,734 371 2,470
&at 24,356 25698 24,341 74,395
[BiEEDNES—EZRDIRR]
(8) BHNEHEY —EADIKR
_ _ (A 4, )
X 7 [EEN Eoa] HEES
{37 imak ] 149 /
ek FE D A 290 7
it 439 /
JOERR A ifsaE 11 /
= 4500 /
[ SHAEEcknblE 103 /
BN 27
OET 452 614,000
LR A DIRR]
(9) %A*E*&%%HEE-@%‘$%HSZH@EPGJF%;{)M(D%IJFWMR%EJO)WER
(BA1 M)
B H IR EE 33
EREA 14,263,800
EFBRIA 37,895,824
BEE 44277124
AGEF 2,124,630
TRl 1,971,554
Baatt 217,126
= AR 214,110
&at 61,114,768

(10) Z AR B LN EEBZREDOHOMEBEEFINE | DHER

(Biff: M)
F % P
() BEE NS — LB BB eI S 20,000,216
Q) nEHELENETREREE 1,280,306
(3) MihEEREXIESR 700,000
(4) BREETHEAMEE- MBEEEEEERERHME 1,889,000
& ET 23,869,522




[ZHOIRIR]

(0 FHESRERRE - BHEER (BB MLLE) DIKR

(E {2 /)
_ % %4 SUEIEE |
(1) 2BERRER =/ L= —FRISHE 407,000
(2) EEINwE 35 A 381,000
(3) INANLTF6E M2 A 393,800
(4) 7 INDAM AN A= —FRIERETE 2,495,900
(5) BEBEESHEE 18BA 398,200
(6) AR ERESFEEN R EESERELE 1,991,000
(12) EEEERMEORNR
(BA 1D
. EEZ TR OET
() FER UV ERESE
1 BEIAVE 38 B 381,000
@ U9V ERT 1§ G 105,000
B REBEENFRE 15 TE 398,200

4 R—=Y




FF NG AFSR—ANTE SN 4 AR B AE O MR E R

[AEHDIKER]
(DHFN4FEH REOANEIKR

| MEEH (2) |

(B A, %)

AR EXE2 EArik 1 BN 2 TE 3 EAr 4
R A | ss A Bl AE s ARl A% | ssARR] AL (s Alm] AR [ s ABR|] A |seAlR
4] 360 ol 150 o] 270 o]l 308 22] 270 3 90 0
5f 341 o] 155 o] 279 o] 372 311 260 23 93 0
8] 330 ol 150 o] 300 o] 315 15] 265 55 90 0
v of 155 o] 379 20] 259 o] 191 51 124 0
gl 310 of 1iss 31| 403 31f 288 ol 155 ol 124 0
9] 300 ol 180 ol 386 6] 300 ol 150 0 90 0
10] 310 ol 186 ol 434 ol 217 1] 141 200 155 0
i1] 300 o] 180 o] 390 ol 180 36] 120 30] 165 14
12| 310 o] 248 o] 385 32| 176 15 74 o] 155 27
il 310 o] 248 o] 34 of 188 31 31 of 124 31
2] 308 o] 196 0 420 0] 248 28 28 o] 112 28
3] 341 ol 177 32| 527 151 223 9 62 of 124 31
B 3,861 o] 2,211 63| 4474 143] 3070 192] 1,747 136] 1446 131
_ (B A%
g EnEs BEANER | 77WIAAR &at AEE
B3 A | su ARl A |5 AR] AE |5 AlR]| A# [ssAlR] BE | EEE | ABE | Abs
4 0 0] 1,446 25 30 ol 14786 25 30| 1,500] 98.40%| 96.73%
5 0 o] 1500 84 31 o] 1,531 84 31l 1,550 98.77%| 93.36%
6 0 o] 1450 70 30 o] 1,480 70 30| 1,500 98.67%| 94.00%
7 0 o] 1,449 34 31 o] 1,480 34 31| 1,550 95.48%| 93.29%
8 31 ol 1.497 62 31 o] 1,528 62 31| 1,550} 98.58%| 94.58%
9 60 ol 1,448 6 30 o] 14786 6 30| 1.500| 98.40%| 98.00%
10 62 ol 1505 31 31 o| 1,536 31 31 1,550] 99.10%| 97.10%
11 45 o| 1,380 74 30 o]l 1410 74 30| 1,500] 94.00%| 89.07%
12 31 o| 1,359 74 31 o] 1,390 74 31| 1,550] 89.68%| 84.90%
1 31 o] 1,271 62 31 ol 1.302 62 31| 1,550 84.00%} 80.00%
2 28 ol 1,340 56 28 o] 1,368 56 28| 1,400| 97.71%| 93.71%
3 31 o} 1,485 87 31 ol 1516 87 31| 1,550| 97.81%| 92.19%
&t 319 0] 17,128] 665] 385 ol 17.493] 65| 365] 18,250] 95.85%| 92.21%
(OFFE A RFTE DR
(Hfr: A)
B % A
X 7 F R iE BF -
N ExR & AR = ERER
—iEFIRHE 1 i 0 0 1 1
FE R A 48 21 20 23 23 49
BEXig 1 12 0 0 1 3 10
BYiE 2 6 0 0 3 3 6
HEAEE 1 9 9 3 8 8 17
HEAEE 2 10 9 5 3 6 10
BEiE 3 8 2 9 4 4 1
ENhig 4 3 0 1 3 1 4
ENE 5 0 1 1 1 0 1
=8 49 22 20 23 24)| 50

1 R—




(B2 DIKIR]

2 "—Y

(3B Dk
(B A)
R % ME " wE R %%ggv@
73 ' & -
FER i = 7 =) FEXR
R 1 1
ERIEES 1 1
FEL 1 1
ETEI{ERIE 25 i 1
A 2 2
HenkEls L i 1
kB 15 1 1 2 2 15
HRA 1 1
L 23 1 1 2 2 23
EEE 18 i8
KR LR E 0 0
"ML A A LR 2 2
R—FEALHEH 3 3
(DB EEEEEDIKNR
D SHAF4RIB DT _ (BT A)
) BmEaRr) | EEEEA) | EZ51(7-1)
P 1.0 1.0 0.0
7 |EEE 0.0 0.0 0.0
N [EEL 1.0 1.0 0.0
AES TR 1.0 1.0 0.0
A |riEmE 1.0 1.0 0.0
¥ TP P ov— 1.0 1.0 0.0
£ |[MekdlEt 0.8 1.0 -0.2
A EE ] 20 2.0 0.0
B TEmE 135 123 12
BET 21.3 20.3 10
@ SHSFEIF1HOPR _ (HEAT: A)
X 5 WERT) | ReBae{) | =501
A |EkE 1.0 1.0 0.0
7 |BHEE 0.0 0.0 0.0
N |REDL 1.0 1.0 0.0
7 |EFRHE 1.0 1.0 0.0
A [TERE 1.0 1.0 0.0
¥ |(TT AN — 10 1.0 0.0
T 0.8 1.0 -0.2
] 2.0 2.0 0.0
[ NERE 135 12.3 12
&ET 21,3 20.3 1.0
[#anxtit]
(5) FTHAIEEMEIEFDOIRR
(B )
AN
& % W8 Srpaens
= e B S AR 71 7
R 47 6
BaC-TH 24 [
ERE R ERE] 0




[EEOWE]
6) HEE=EEESDOME

B L
[#AEDIRIH]
(D HEY—EZAORKR
(B &)
X 5 HE BB k- &t
MAEE 16,267 16,143 16,269 48,679
1H 446 44.2 445
PRt 89.2% 88.4% 89.2%
RiE- S 338 253 338 929
=1 16,605 16,396 16,607 49,608
[F{EXDEH—E XD IRR]
(8) ZMEFE Y —ERADIKNR
— (BALI. 4, A)
B 7 B FRE EES
£t a2 ol 123 /
&Rk KD H 169
&t 292 /
AR (T ikl 4] /
& i 206
| o>5iEREIOknELE s/ /
BL\VIS R o/
@ 296 434,500
(U A DR ]
(9 %ME#&E%ME-Eﬁ%%ﬂl%&@mwfé?{thogﬂm*ﬂﬂmCDWER
BS 457 - [
1 H UL AEE & &
EHETA 11,740,100
EFEEWA 25,996,300
BEEE 3,025,404
TR EF 1,471,991
B 1,078,379
s
= AR 174,600
BET 43 486,774

(10) ZABUBERNE - EEFRNBEOFONEBEERINEDNER

_ (E4T: )
- S5
() BBEAF—LEESEMHPSE 13,963,812
(2) Mg BB ETEEERE 771,842
3) S ETEE 500,000
(4) BREHTEAMBR- BERREINSETEREEGIS
& &t 15,235,654

g ~—L




[ZHDIKR]
(1) EAHEREHESE 1SS G530 AM L L) DIKR

(B )
_ _ % DR RE
A o—HmKE——{Ei 371,360
TAGEY N3 48, /—kA\yar 15 BA 670,000
(12) BEEERFOIRR
(Hfr: /M)
| # & TN
FAGEYINIAD 48, J—F\Jav 18 e 670,000

4 R—




